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= 837,964
Al 209,491
-+ 10,000
oA 2H(S30II2SE3AH) 1,057,455 99,768 60,687
= 837,964
Al 209,491
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4,500
MEANY DXIA UM 1,000
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1,013,7% 955,208 58,587
= 811,036
Al 202,759
1,013,795 955,208 58,587
= 811,036
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01 Al BEE4HS(2DEXE) 1,013,795 955,208 58,587
845,160
= 676,128
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= 134,908
Al 33,727
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= 22,608
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= 7,056
Al 1,764
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25,0002 x50 1,250
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—9230 AldlZelAr 1,250
= 1,000
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370,000 6% 2,220
= 1,776
Al 444
202 O4H| 19,440 18,39%6 1,044
= 15,552
Al 3,888
01 =2LHO4 ] 19,440 18,3%6 1,044
Ou=0t| 160,000 x6 H *23| 1,920
= 1,536
Al 384
O=&I&EH =il
160,000 & *6H *23| 1,920
= 1,536
Al 384
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20,0003 * 13 x5 123 15,600
= 12,480
Al 3,120
ol2=0 At ollblgl 10,000 11,000 21,000
801 ollgId| 10,000 11,000 21,000
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